In class exercises, Chapters 11 and 13
1. Use the following extensive form game to answer a – c:
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a) What are player 1’s strategies?

AGI, AGJ, AHI, AHJ, BGI, BHJ BHI, BGJ

b) What are player 2’s strategies?

CE, CF, DE, DF

c) What is the SPE?

SPE ( BHJ, DF

2. Use the following extensive form game to answer a – b:
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a. What are the strategies for the above game?
Player 1: A or B

Player 2: CE, CF, DE, DF

b. Does the game have any NE that are not subgame perfect?

	1\2
	CE
	CF
	DE
	DF

	A
	0, 2
	0, 2
	1, 3
	1, 3

	B
	4, 1
	1, 0
	4, 1
	1, 0


Yes, NE is (A, DF) and SPE = NE is (B, CE)
3. Use the following (two period Prisoner Dilemma) game to answer a – c:




[image: image1]
a. Circle all subgames. How many are there?

5 subgames (game itself, and each of game off the second player 1 move)

b. What is the SPE?

C,C is the dominant strategy for both players in round 2, knowing that in round 1, 1 would rather C (0 and 7 are more than -2 and 5) and player 2 would rather C (0 and 7 are more than -2 and 5).
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                 -2,7    5,5              5,5  12,3                  -4,14  3,12                 3,12  10,10


0,0   7,-2                  7,-2  14,-4           -2,7     5,5                  5,5   12,3
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